
·) ∏ Û˘Ó¿ÚÙËÛË y = ·x2 ÌÂ · � 0

‚) ∏ Û˘Ó¿ÚÙËÛË y = ·x2 + ‚x + Á ÌÂ · � 0

∏ Û˘Ó¿ÚÙËÛË ·›ÚÓÂÈ
ÂÏ¿¯ÈÛÙË ÙÈÌ‹

¢y = – ⎯ , fiÙ·Ó4·
‚

x = – ⎯2·

∏ Û˘Ó¿ÚÙËÛË ·›ÚÓÂÈ
Ì¤ÁÈÛÙË ÙÈÌ‹

¢y = – ⎯ , fiÙ·Ó4·
‚

x = – ⎯2·

· > 0

· < 0

‚
x = – ⎯2·

‚ ¢(– ⎯ , – ⎯ )2·     4·

ª¤ÁÈÛÙË ‹
∂Ï¿¯ÈÛÙË ΔÈÌ‹°Ú·ÊÈÎ‹ ·Ú¿ÛÙ·ÛË™˘ÓÙÂÏÂÛÙ‹˜ÕÍÔÓ·˜

Û˘ÌÌÂÙÚ›·˜∫ÔÚ˘Ê‹

∏ Û˘Ó¿ÚÙËÛË ·›ÚÓÂÈ
ÂÏ¿¯ÈÛÙË ÙÈÌ‹

y = 0, fiÙ·Ó x = 0

∏ Û˘Ó¿ÚÙËÛË ·›ÚÓÂÈ
Ì¤ÁÈÛÙË ÙÈÌ‹

y = 0, fiÙ·Ó x = 0

· > 0

· < 0

x = 0(0, 0)

ª¤ÁÈÛÙË ‹
∂Ï¿¯ÈÛÙË ΔÈÌ‹°Ú·ÊÈÎ‹ ·Ú¿ÛÙ·ÛË™˘ÓÙÂÏÂÛÙ‹˜ÕÍÔÓ·˜

Û˘ÌÌÂÙÚ›·˜∫ÔÚ˘Ê‹
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